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---- footer
parser = Calcp.new aYURSAUBIHD1ER
begin

if ARGV.length>=1 th

fname = ARGV[O] TIA—ILEDT7AILE
else T7AIVE, —(TFORELET

fname = "test”

end S #1
File.open(fname) {|f]| i Bt

parser.parse(f)

}
rescue NoMethodError, ArgumentError, ParseError
print $!, " at line #{parser.lineno}", "¥n" def parse(str)
end @q =[]
lineno = 1
#BR

T71ILDEDHBHESIZLES(2)

def parse(f)
@q =]

v

target: exp { @result = result }

@lineno = 1 | /% none */ { @result = result = 0 } '

f.each do [line| v
line.strip! def lineno TELAE
print( ">>", line, "¥n" ) @lineno
until line.empty? end
case line

#BA

end
line = $'
end
@gq.push [false, '$end']
do_parse
puts( "=>"+@result.to_s )
@lineno += 1
end
end
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¥t KI5 T horizontal tab (0x09)

¥v EILY T vertical ta (0x0B)

¥n AT newline (0x04)

¥r # - (0x0D)

¥b — % acl co (0x08)

¥r form feed (0x00)

Ya bell (0x07)

Yo TR —TE escape (0x1B)
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B{FDFER

a=0

b=0

if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
c

a=0

b=1
if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
c

a=1

b=0

if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
c

a=1

b=1

if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
c

'
=>0 =>1
=>0 =>0
=>3 =>1
=>3 =>1
=>0 =>1
=>1 =>1
=>2 =>0

=>2 =>0 BROAEFHOTES
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rule
target:
| exp
| lexp

lexp: exp "==" exp { result
exp "I=" exp { result
exp ">=" exp { result
exp "<=" exp { result
exp "> exp { result (val[0]> val[2]) }

exp "<* exp { result = (val[0]< val[2]) }

lexp "&&" lexp { result = (val[0] && val[2]) }
lexp "||" lexp { result (val[o] || vall2]) }

(val[0]==val[2]) }
(val[0]!'=val[2]) }
(val[0]>=val[2]) }
(val[0O]<=val[2]) }

“1° lexp { result TCval[lD }
(" lexp *)* { result val[1] }
TRUE {result=true}

FALSE {result=false}

BNTIELFEL, .

prechigh

nonassoc "==" "I=" "

nonassoc “!*

left "&&" "||"
preclow

when 7¥A(==|>=|<=|1=)/

@q.push [$&, $&]

>= <=" "> <"
} BHBLETHITEM

} Dk FEOTLHEE

when /Z¥AQR&I¥1¥R/
@q-push [$&, g«\
IRT—TREDEHENDT,

XFELTOHtHE

D REIBTYEH, print CHLWLIZLDT

args : { result = [] }
| exp { result = val } # result = [val[0]]
| lexp { result = val }
| args "," exp
{ result.push( val[2] ) }

$ ruby calcll.rb iftest4

a=—1-b=1
a==b
a=1b=0
al=b
a=1b=1
a==b and b==1
a= 1 b=1

not !a==b
a=1b=1

not !(a==b and b==1)
true
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